EREAE

2018/06/27

MFEEI511/3/7 5EER (TR14BEESD)

=40]

R CRIE) =/

R CRE) %

447

B9
¥

BT

/14

R{E 547 )

R 547 I 547 (B E447 T

Fi
BAH

EEH

]
EEE | EEE | EEE

.700

.700

.700

.200

.700

.200

IMAFE

700

.200

700

.200

.400

.400

JAL



sa g
T£155151 1EE&R (9A3~13EEFES)
SEEWEMAA : 2018/06/27 ~
9/3-13
B F4 RFIMTA e FfFIM7B
¥R | am 7 BE e
BAM | T A #3|% _
RRCAB) =44 (B8 | RRCAB) & 28I | 19.800 458 58% | 1:20,000, H:17.900
2881 | 22,100 458 53% |%:21.400, +:23.100, B:17900
2881 | 22,100 458 53% |%:21,600, +:23.100, B:17.900
2881 | 22,100 458 53% |%:21,600, +:23.100, B:17.900
2881 | 21,300 458 55% |%:21,600, +:22.200, B:18,400
L 28BH1 | 20600 458 56% | 221,600, +:22.200, B:18,400
L 28881 | 17300 458 65% |+ H:17400
L 2871 | 13900 458 70% | £:16,900
L 28881 | 9,900 458 79%
[J 2881 | 8,900 o 458 81%
[J 2881 | 16900 | 63% |+ H:18,300 458 66% |+ H:16,900
[J 2881 | 16900 | 63% |%:27600, F H:18,300 458 66% |£:26,600, + H:16,900
SR TE) R 28FIR | 8900 | 81% 458 81%
[J 28BH1 | 8900 | 81% 458 81%
[J 28BH1 | 9.900 | 78% 458 79%
[J 2881 | 10900 | 76% 458 6% |
[J 2881 | 16900 | 63% 458 66% | H:16,900
L 28E#1 | 20,100 | 56% 458 58% | £:20,000
L 2881 | 20100 | 56% 458 58% | £:20,000
L 28E#1 | 20100 | 56% 458 58% | £:20,000
L 2881 | 22,100 | 52% 458 53% |+:19.400. B:22.700
2881 | 22,100 | 52% 458 53% |+:19.400, B:21.200
28EH1 | 20600 | 55% 458 56% |+:18.700, B:21.000
2881 | 19800 | 57% 458 62% | 518,300
KR (FR) AR BT m)| AR (& 28EH1 | 20600 | 56% 458 59% |%:23.700, H:14,900
28EH1 | 20600 | 56% 117,700 458 50% |%:22400 %
2881 | 21400 | 54% 458 56% | % T:23,500
2881 | 13800 | 70% |+ H:15400 458 71% |+ H:14900
28EH1 | 14800 | 68% 700, B:16.400 458 69% |+:14,900. B:15900
WLI% (37 F#) 5{_JL2000 | 28 B A [ 14,800 68% 250
L2006 | 28EEG | 17.700 | 62% 000, B:18.800 458
L3914 | 28EEG | 22700 | 51% 458
L2010 | 28EEG | 21,800 | 53% 458
[ JL2016 | 2881 | 21800 | 53% 458
KBR (BI7E) =#L8% (37 F#%)| A0k (B7a) | JL2501 | 28HRT [ 18.500 60% 450
[ L2503 | 2881 | 11800 | 75% 458
L2505 | 28E %G | 8800 | 8% 458
LA (% F &) 5{_JL2502 | 28E1A | 8800 | 8i% 458
[ L2504 | 2881 | 9,800 | 79% 458
L2506 | 28E1F1 | 17.900 | 61% |%:18.300. £:15.800. H:17.300 458 66% 0. £:13,900. H:15,300
KIR (/) =18 | ABR (/%) 3| JL2051 | 28FA | 10700 | 57% 458 50% |4 1:10600
[ L2053 | 2881 | 10700 | 57% 458 50% |4 1:10600
[ L2057 | 2881 | 11.700 | 52% +11,900, £:11.400 458 55% 1.200. £:10.700
L2061 | 28EEG | 11,700 | 52% +11,900, +:11.400 458 55% |2 H:11.200, £:10.700
F@EZE | JL2050 | 28/ | 11300 | 54% X 458 57% 0400
[ L2056 | 28E81 | 11,700 | 52% H:13,100 458 + H:13,000
[ L2058 | 2881 | 11,700 | 52% 458
| JL2060 | 28ERI | 11700 | 52% 458
FR CRE) =/ML FRCAE) % 28EF] | 9,600 61% 458 8,400
2881 | 11000 | 55% 458 8,400
28EH1 | 10200 | 59% 458 8,400
28EH1 | 9,600 | 6% 458 0,600 T H:8,400
28E1 R | 9600 | 6i% 1000, £ H:9.800 458 0,600, % H:8,400
28E R | 10000 | 50% 1000, £ H:9,800 458 600, H:8,400
INASE 28E#1 | 10000 | 59% 458 8,400
28EH1 | 9,600 | 6% 458 8,400
2881 | 10000 | 59% 458
28E#1 | 10200 | 59% 458
28E R | 11,000 55% 458
2881 | 10000 | 59% 458
RRAD-AL | "REDFE[ 2881 | 12400 | 63% 458
28E R | 12000 | 64% 458 H:12.300
28EH1 | 12000 | 64% 458 2.200, + H:12.300
28EH1 | 14300 | 58% 458 12,500
28EH1 | 15600 | 54% 458 100, H:12,500
[T 28EH1 | 12000 | 64% 458 00
2881 | 15000 | 55% 458 00 £:12,500, H:12,100
28EH1 | 12000 | 64% 458 00, + H:12,300
2881 | 14800 | 56% 458 00, £ B:12,500
28EH1 | 15600 | 54% 458 00, + B:12,500




rEiss

15| SEE R (9A18~30E1EEH)

EEHAB ~
B F4 = — RFIMTA FfFIM7B
- miam | 2T ) %
RRCAB) =44 (B8 | RRCAB) & 28 F | 19.800 % 1:19,400, H:17.400
2881 | 22,100 %:20800, +:22.400, H:17,400
2881 | 22,100 %:21,000, £:22.400, H:17.400
2881 | 22,100 %:21,000, £:22.400, H:17.400
28871 | 21,300 %:21,000, £:21,600, H:17.900
L 2887 | 20,600 %:21,000, £:21,600, H:17,900
L 28871 | 17.300 [£:14.700
L 28871 | 13,900 [£:15.600
L 2881 | 9900
[ J 2881 | 8900
[ J 28871 | 16,900 15, 14200
| J 2881 | 16900 | 63% |%:25700 24,700
R (BPER) | 28H I | 8900 81%
[ J 2881 | 8900 81%
[ J 2887 | 9,900 78%
[ J 2881 | 10900 | 76%
[J 2881 | 15600 | 66%
L 2881 | 20,100 | 56% £:18.800
L 2881 | 20100 | 56% +:18.800
L 28E#1 | 20100 | 56% 18,800
L 2881 | 22,100 | 52% £
2881 | 22,100 | 52% e
28EH1 | 20600 | 55% ER
2881 | 19800 | 57%
KB () =4LIR (H7 F#%)| KBR (FF) 5 28HF | 20.600 56% ES
28EH1 | 20600 | 56% ER
2881 | 21400 | 54% 00
28EH1 | 13800 | 70% 1,600, £:11,600
2881 | 11600 | 75% 12,600
LA (% F &%) 5{_JL2000 | 28E1A7 | 14,300 | 69% 12,600
L2006 | 28EEG | 17.700 | 62%
L3914 | 28EEG | 22700 | 51%
L2010 | 28EEG | 21,800 | 53%
[ JL2016 | 2881 | 21800 | 53%
KBR (BI7E) =#L8% (37 F#%)| A0k (B7a) % | JL2501 | 28HR [ 18.500 60%
[ JL2503 | 28E%1 | 10600 | 77% |&+H:10000
L2505 | 28E1 A | 8,800
LA (% F &%) 3{_JL2502 | 28E1 A | 8,800
[JL2504 | 2871 | 9,800
[ JL2506 | 28E%1 | 17,900 800, £:15.300. H:16,800
B (CHE) =M RRECRE)$|_JL 28H7T [ 9600 8,400
L 28681 | 10,700 11,100, £ H:8,400
L 28681 | 10.200 8400
L 288 | 9,600 110,300, £ H:8,400
288 | 9,600 %:10.300, T B:8,400
L 28681 | 9.700 110300, T B:8,400
L 2881 | 9.700 £ H:8,400
288 | 9,600 8400
L 28E 71 | 9.700 8400
L 28 B AL 200 1,100,  H:8.400
L 28 A1 | 11000 2,300, £ H:8,400
L 2881 | 10000 0,600, T B:8,400
FR (GFIE)=fE W RRECABE)%|_J 28H I | 12400 11,500
28EH | 12,000 2,300
28EH | 12,000 1,800
28 H | 14.300 11,500
28EH | 15,600 11,500
28E R | 12,000
28 B AL 55% 200, £ H:12,500 2,700, £ H:11,500
28 B AL 64% 800, F H:12,500 1,800
28 B AL 56%
28 B AL 54%
KR (P =K % KR (75 PR 66%
PEEL 66%
28 B AL 66%
28 B AL 66%
28 B AL 66%
28 B AL 66%
KR (5| J 28B1 A1 54%
28 B AL 51%
28 B AL 51%
28E A | 14 6% & H:13,900, :11,600
28EH1 | 13400 | 49% 300, B:13.900 FKA:11,500, % F:12.400
288 | 12400 | 53%
28EH1 | 12400 | 53% 100 12,400, £:12.800. H:13.300
288 | 13,700 | 48% 00, %:14.800 14,200, 7K:13,700, :13,700, £:14,300
B 28B 81 | 7,000 68% 500 7,000
28881 | 7,500 66% 200, £:8.200 7500, £:7,500
28B81 | 7,500 66% 000, +:8,200 6,300, £:7,500
28HAI | 7.000 68%
28H Al | 7.000 68%
28H A1 | 7.500 66%
28H A1 | 7.500 66%
28HAI | 7.000 68%
28H A | 7.500 66%
28HAI | 7.500 66%
28H A1 | 7.000 68%
28H A | 7.500 66%
28H A1 | 7.500 66%
28H A1 | 7.000 68%




WREAE

2018/06/27

s

Pis]

=

&)
&

15 BER(10F1~4BEED)

=]

RBR (BEE) =A% (i F )

ESAGIIE] N

HLOR (37 F %) S_J

RIR () =18

KB (FFH %

BEE

R CRE) =M

RRCAE R

INEASE

FR CRE) =R

HRCABE) R

[EITES

FFITA

E/ITB

L

HE
#51%

w5

65%

79%

81%

81%

79%

66%

59%

59%

50%

52%

54%

55%

55%

55%

61%

59%

56%

A:11,100

61%

61%

60%

60%

61%

60%

60%

59%

60%

65%

66%

66%

59%

55%

66%

57%

66%

58%

55%

JAL



WREAE

2018/06/27

rse

48 5y

=&

15| SEER (1089~ 18BEESD)

=]

RIR (B8 =HLIR (3 7 8| KB (BIE) 36|

HLOR (37 F %) S_J

RIR () =18

KB (FFH %

BEE

R CRE) =M

RRCAE R

INEASE

FR CRE) =R

HRCABE) R

[EITES

10/9-18

FFITA

E/ITB

HE
#51%

w5

S
&
4

1£:17,300, H:12,800

300, 1:13,900

13,300

£:17,200, +:14,600, B

:16,200

:12,500, £:11,800, H:13,200

2,500, 1:11,800, H:13,200
3,600, £:12,800, H:14,200
0.600

£+ 8:12.800

0.600

£ H:12,800, £:12,300

12,100

H:11,800

11,200

100, £:11,500

00

$:11,200, £ H:9.800

9,100

11,100, £ H:9,100

800
.000, + H:9.800

9,100

19100 ______
600, + H:9,100

600, + H:9,100

1,100, £ H:9,100

100

:9,800

9,100

3:9.800 ____
.200, + H:9.800

9,100

1,100, £ H:9,100
2,300, +H:9,100
1,100, £ H:9,100
2,200, 1 H:12,500

12,200, 1 H:12,300

H:12,300

2,200, 1 H:12,300
12,500

4,800, 1 H:12,500
5,500, F H:12,500

2,100, H:12,500

2,500

2,500 ___
700, 1:12,500, H:12,100
2,200, 1 H:12,300

JAL



WREAE

2018/06/27

M4

4B

=&

151 :BE R (10819~27HEES)

=]

RIR (B8 =HLIR (3 7 8| KB (BIE) 36|

HLOR (37 F %) S_J

RIR () =18

KB (FFH %

BEE

R CRE) =M

RRCAE R

INEASE

FR CRE) =R

HRCABE) R

[EITES

10/19-27

FFITA

E/ITB

HE
#51%

w5

1£:17,300, H:12,800

e

300, 1:13,900

13,300

£:17,200, +:14,600, B

:16,200

£+ 8:12.800

£ H:12,800, £:12,300

H:11,800

$:11,200, £ H:9.800

800
.000, + H:9.800

:12,500, £:11,800, H:13,200

2,500, 1:11,800, H:13,200
3,600, £:12,800, H:14,200
0.600

0.600

12,100

100, £:11,500

00

11,200

9,100

11,100, £ H:9,100

9,100

19100 ______
600, + H:9,100

:9,800

3:9.800 ____
.200, + H:9.800

600, + H:9,100

1,100, £ H:9,100

100

9,100

9,100

1,100, + H:9,600

2,300, +H:9,100

1,100, £ H:9,100

2,200, 1 H:12,500

H:12,300

12,200, 1 H:12,300

2,200, 1 H:12,300
12,500

2,100, H:12,500

2,500

2,500 ___
700, 1:12,500, H:12,100
2,200, 1 H:12,300

4,800, 1 H:12,500

5,500, F H:12,500

JAL



rEJEEI EER(OA1~2BBRS) JAL

BEEMAE : 2018/06/27 ~

= o °t 9/1 9/2
e e e o N 85| ST A B TE

) 73
p;\*‘f_ MAEDOETIE SIS

c
&3
&
o
o3

500 [ 400 |
,800 8,400

.800
,800
.800
,800
.800
,800
.800
,800
.800
,800

R CRE) =/ML RRECPE)H|_JLI

IMASE




SEEEA R

2018/06/27

MEBE5 1 BER (A 14~1TEHEES)

(=40}

be 8547

be 8547

9/14

9/15

9/16

9/17

E/IMTA

%£18417°8]

F£GI7

Al 5218547 B

H18547 Al %£18347 B

F18547 Al %£18347 B

FH
j | #A

ERE

ERE

ERE

ERE

ERE

ERE

ERE

ERE

R CRIE) =ik (R 5R)

RROAE) | J

21.000

18.700

23,200

23.200

20.200

20.200

26.400

23,700

23.300

23.300

21.700

20.700

15.900

17.700

28.700

30.700

GG N

.400

.400

.400

200

.700

20.200

20.200

20.200

21.900

21,900

20.400

.000

KR (BAEE) =HLIR (BT F %)

KR (BAEE) %

.300

.100

.100

LI (37 F5%) R

600

.000

.000

R CRE)=IE

RRECRE)#

.400

900

4.200

7.400

E=ES

.500

.600

.700

,100

KR (F54) =8

KB (5

.000

700

KR (5 =fE R

EE
KB () %

.200

.800

.800

5

Bl

.900

BAR

ININ
&

BAiL

.900

.900

.900

.400

B (P &) =ALIE (91 T A & 2 (P D)

25.900

.100

.300

.600

.600

HLI% (37 F %) §§_JL3100 |
Ji

4.100

6.100

6.100

1.200

el e e et el el e e et sl e A

1.200

JAL



MEBE5| 1 BER(9A21~24BEFESH) JAL

BEEMAE : 2018/06/27 ~

9/21 9/22 9/23 9/24
@517 A ZRAT | R0 A 17 B| AT Al S B eI Al BT B
AR R T

21.000 5 . 26.300

23.200 .. X | 34.300
23.200
23,700
23.300
23.300
21.700
20.700
15.900
17.700
28.700
30.700
.400
400
.400
,900
700
20.200
20.200
20.200
21.900
21,900
20.400
19.000
22.800
3.300
.000
,900
.900
,300
1.700
4,200
.000
,700
.200
800
— .800
B AL .900
Bl .900
,900
.900
400
25.900
100
.300
.600
.600
4.100
6.100
6.100
1.200
1.200

be 8547 AE 8947
=

RECRB) =4 (B8 | RR(FE) £ _J

GG N

RER (A =48 BE) | KR (FFH R
PR (AR ER)
BE=ILIR T m) [EEES
FLIR 37 F %) 5
KR (F#54) =8 KB (R $¢
EE
KR (FFH)=fE R KB (5 %

&

ININ
&

RAR

B 2 (D) =ALIR G3F T s 5 2 (P D)

J
LI (37 F %) ${_JL3100 |
JL:

el e e et el el R




M&EJE5 1EER(10A5~8AEES) JAL

BEEMAE : 2018/06/27 ~

10/5 10/6 10/7 10/8
@517 A A7 | R0 A 517 Bl s T Al S B eI Al BT B
AR R T
il 25800 | 22700

4,600 21,500

BE1R917 AL 18447
(=40}

KR (5 =4LIR G F i) | KBk (B FH % | J

[ J 400 18.700
.000 20,000
HLIR (57 Fa) A _J 700 17.700
[ J ,000 18.000
| J 22.800 21.700
.800
KR (BE) =ALAR GG F %) | KB (BOEE) 3¢ | J 400
,100
.100
ICESIE: I 300
7.300
1.200
HER(CAE)=HE HERCRE) [ JL277 | 28 7.700
JL279 28 9.700
| JL283 | 28 7.300
| JL285 | 28 700
JL287 | 28 .200
HEHX JL276 28 ,400
JL278 | 28 .300
| _JL280 28 7.300
JL284 | 28 1.600
L286 28 20.600
KBR (F753) =BaEE KB (G [ JL2123 | 28 24,400
RS 124 | 28 20.400
KR (FRD-FEA | AR () % | JL2383 | 28 200
[ J 28 800
1128 - .800
L2389 | 28 45E Al ,900
REAR | JL2382 | 28 45 B Al .900
| JL3880 | 28 - ,900
| JL2386 | 28 .900
L2392 | 28 .400
B (7 E) =ALIR (37 T A & 2 (PP ) 34_JL3103 | 28 200
| JL3105 | 28 23,000
L3107 | 28 20.200
9.300
7.300
ACESIE: 6,900
8.200
L3110 | 28 20.600
L3114 | 28 24.200
18 | 28H B 25.200




[R——5%BEER(OAI~I3AEBESD)

EREEAA : 2018/06/27 ~
9/3-13
=40) A—N—%F
w5
KBR (BFH) =4LIR (BT F %) KR (FFH % | 9,300, £:21,200, H:13.600
[J 8,200, 1:20.300, H:15.000
[J 21,800
[J 14.400
£:13.600, H:15.400
FLOR (BT F %) 34_J
14,400, H:16.200
22,500
6500, +£:16.200. H:19.400
6.500. 1:16.200, H:19.400
KB (BEEE) =4LIR (37 F%)| KR (BdE) % | J 17.200, B:12.700
[J 12.400
FLOR (BT %) 34_J
3,400, £:12.700, B:14.100
KR (F}) =18 KR (A F | J 900, 1:9.700
[J 00, £:9.700
[J 110,200, 1:9.700
:10.200. £:9.700
EEEES
FRCRE) =/ RRPE)F [ J
0500, + H:8.100
0500, £ H:8.100
0,500, + H:8.100
INAFE
(6 2 () = AL IR (37 T | & 5 B () 3
FLAR (B %) 7 . X
55 200 | 66% 115,300
55 7900 | 57% |A:18.400. £:16.400. H:18.800
JL3114 | 558 7900 | 57% |A:18.400, +:16.400. H:18.800
JL3118 | 558 4200 | 66% |+ H:16.500

JAL



TR—N—%FGIHEER(OA18~0BEEN)

EREEAA : 2018/06/27 ~
=40) Ea | BAY - TER
i’ B | gyziw w5
RECHE) = (F&H) | RRCPE)F [ J 55 7.200 2% |©+:17.600. H:15.600
55 .700 7 000, £:20.600, H:
55 .700 7% | £:19.00. +:20,600,
55 .700 7 .200. £:20.600. H:
55 000 | 59% [£:19.200. £:19.800, A:
55 100 | 60% .200. £:19.800.
55 600 | 66% |%:14.200
55 700 | 70% |£:15.100
55 9,700 79%
55 8700 1
55 15.100 7% | %:13.700
55 15.100 7% |£:22.700
REEB R | _J 55 8.700 1%
55 8700 | 81
55 9,700 9%
55 0700 | 77%
55 3700 | 70%
55 7500 | 62% 17.600
55 7500 | 62% 17.600
55 7500 | 62% 17.60
55 700 | 57% |%:19.100, £:17.000, H:21.700
55 700 | 57% 9.100. £:17.000, H:18.800
55 100 | 60% |%:17.600. %:16.400
55 600 | 66% 15.100. H:16.
KR () =#LIR (i Fi%)| KBR (FFH % 55 700 62% ,700, 1:20,600. H:13.200
55 7700 | 62% |+:19.700. H:14.600
55 9.000 | 59% 21,800
55 9.700 79% 1,100, £:11.100
55 10700 | 77% [+ H:12.100
IR A 55 10700 [ 77% [+ H:12.100
55 14100 | 70% |£:13700. £:14,000, H:15.700
55EA1 | 20100 | 57% |H:22.500
55 18.800 6,000, £:15.700
55 18.800 6.000, +:15.700
KB (BAEE) =4LIR (i FiR)| Kbk (BIEE) 55 15.100 1:16.700, H:12.300
55 700 £ H:9.100
55 600
#LO% (37 F#%) $4_JL2502 | 55 600
55 600
55 14.600 3,000, £:12.300, B:13.700
SR CRIE) =/ RRCRE)F | J 55 9.400 3:8.100
55 10.500 3:8.100
55 10,000 3:8.100
55 400 10.200. £ A:8.100
550 400 62% |%:10.200, + H:8.100
556 500 10.200. £ A:8.100
N 556 500 100
556 .400
556 500
556 10.000
556 10000 | 59% 10,
556 9.800 60% 10.
KR (FFH)=F&K KB (75 % 55H .300 70% 13,
556 .300 | 70% 13,
556 300 | 70% 13,
EHR 556 .300 | 70% 13,
556 300 | 70% |13,
556 .300 [ 70% 13,
KR () =feAR KR (75 % 55H .200 61% 10.
556 700 | 56% 12,
556 500 | 56% B:
A% 556 400 | 60% [ &
556 600 3
556 1.700
B 2 (P Es) = AL IR (37 T | & & 2 (P ER) 550 7.900
556 4.200
556 4.200
556 3.400
556 1.400
AL (37 F#%) #_JL3100 | 558 3.400
Ji 556 4.200
556 7.900 . B:18.300
556 7.900 . B:18.300
556 4,200
EE-EH [EES 556 5.400
556 6,600
556 5,900
556 5,400
556 5.400 ;
556 5,900 [£:6,600. £ H:7,300
556 5,900 73 400, H:7.300
EEES 556 6,100 72 . B:5,400, £:7.300
556 5,900 73 600, +:7.300, H:5.400
55H 5,900 73 5,400, £:6,600, +:7.300
556 5.400 76% 6.100. 1:7.300
556 5,900 73%
556 5.900 73%
JL3642 | 558 5,400 76% _|7K:5,900, :5,900

JAL



[R—I—%BIEER(10B1~4BEED) AL

ER#EMAA : 2018/06/27 ~

10/1-4
Fi = =
=40} B2 | mAm — — Z—"—%F
R EEH 25 % w5

KR (BAEE) =#LIR (3 F#%)| KB (BF) 5 55 15100 | 67%
55 600 | 79%
55 600 1%
HLIR (T %) 7 55 600 81%
55 600 79%
55 14600 | 68%
FRCRE) =/ HR(PE)F [ JLIB3 | 55 9.400 62%
[JLis5 | 55 10800 | 56%
JL187 | 55 10000 | 59%
[ JLi89 | 55 400 62%
JL191 | 55 400 62%
JL193 | 55 800 60%
AR | _JLi82 | 55 800 60%
JLi84 | 55 400 62%
JL186 | 55 800 60%
[JLiss | 55 800 60%
[JLT90 | 55 10000 | 59%
JL192 | 55 9.800 60%




[R—N\—%FGIHEEXR(10AI~18BEFEN)

EREEAA : 2018/06/27 ~
T e I
=40) Ea | BAY EER
| EE# |57 %
RBR (BIEE) =L (37 F %) ABR (BEE) % | J 55 14100 | 70% [%+:16.200. H:11.600
55 600 79%
55 600 81%
4L (F T %) 3 55 600 81%
55 600 79%
55 13600 | 71% |2:12.400. £:11.600. H:13.100
RE(CHE) =/ FRCHE)F | JLI 55 9,400 62% |+ H:8.900
55 10.800 | 56% 3:8.900
55 10000 | 59% [+ H:8.900
55 .400 62% |%:10.500, £ H:8.900
55 400 62% |%:10,500, + H:8.900
55 800 60% |%:10.500, + H:8.900
IS 55 800 60% |+ H:8.900
55 400 62% :8.900
55 800 60% :8.900
55 800 60% 0300, £ H:8.900
55 10.000 | 59% 0800, + H:8.900
55 9.800 60% |%:10.800, + H:8.900

JAL



[R—/IR—%BHEEXR(10A19~27THEES)

EREEAA : 2018/06/27 ~
=
=40) Ea | BAY EER
| EE# |57 %
RBR (BIEE) =L (37 F %) ABR (BEE) % | J 55 14100 | 70% [#+:16.200. H:11.600
55 600 79%
55 600 81%
LR (37 F %) 3 55 600 81%
55 600 79%
55 13600 | 71% |2:12.400. £:11.600. H:13.100
RE(CHE) =/ FRCHE)F | JLI 55 9,400 62% |+ H:8.900
55 10.800 | 56% 3:8.900
55 10000 | 59% [+ H:8.900
55 .400 62% |%:10.500, £ H:8.900
55 400 62% [4:10,500. £ H:8.900
55 800 60% |%:10.500, + H:8.900
IS 55 800 60% |+ H:8.900
55 400 62% :8.900
55 800 60% :8.900
55 800 60% 0300, £ H:8.900
55 10.000 | 59% 0800, + H:8.900
55 9.800 60% [£:10.800. + H:8.900

JAL



R—"—%BIBEEXRA1~2BEES) AL

ER#EMAA : 2018/06/27 ~

E2%) 9/1 9/2
F_(Fﬁﬁ E% Eﬁ]\,ﬁﬁ A==k | A—{—%#
B | EREm | ERE
BEE (R =1L TR BB (PED 3 55 2.900
55 8.900
55 7.000 | 1
55 .100
55 100
55 .600
55 .500
55 .200
55 ,200
L3118 | 55 .500




SEEAE : 2018/06/27 ~
9/15 9/16
F
=40 B4 | AR (LA 2 h
B | ERE | ERE
TR CRE) =0 (VB | R CHE) 36 |_J %7 | 26.000
34.100
34,100

iR GRER) R |_J

KR (BAEE) =AL#k (37 F %)

KR (B8#E) & | JL2501 |

FLIR G F ) 59

B 5 (P ED) =ALIE (B T B 2 () 3

R (57 B 3L

[R—N—%FGIHEEROA15~16BEFEN)

JAL



[R—/{—%BIEBEROA21~24BHERS) AL

ER#EMAA : 2018/06/27 ~

9/22 9/23 9/24

P Ba | mam A= | A—ri—5 | A—r—nR
EEE | EEE | EER

18.500

R CRIE) =8 (BH) | RR(FHE) F [ JL

iR GRER) R |_J

KB (BAEE) =#L1R (i Fik)| KBk (BIFE) % | J
FLAR (BT i%) #_J
[y 55
L 55
KR () =548 (RF) | KBR () % | JL 55
55
RO R | Y 55
55
BE=ALIR (FT TR EEEES 55
55
LR (BT F %) 5 55
5

B 5 (P ED) =ALIE (B T B B 2 () 3

HLIR G F %) $_JL3

-
1=
=
n
&
m|(m|m|r
o
S
S

9.900




R—/"—%BIEEXR(I0H6EEES) AL

ER#EMAA : 2018/06/27 ~

=40] Ba | BAH

R CRE) =4 (RH) | RRCHE) R

iR GRER) R |_J

KR (73) =E88 KR (FRF)
BRfEF
(B B (D) =ALIR B F ikl & & B (&) _J

R (57 B 3L




ER#EMAA : 2018/06/27 ~
10/8
P A=/t
EEEH

KB (BEEE) =ALIR (37 F %)

KR (BHEE) 5 | J

.000

.100

,200

FLIR B %) 3

.700

700

[z8.700 ]

[R——5%G1EEXR(10AHEES)

JAL



5% BIEER(OA10~13AEES)

EW#EMAA : 2018/06/27 ~

e 9/10-13
= @ | HAS — DAESLT
R EEH 25 % w5
KIR (D) =#LIR (B F3%)| ABR (R % |_JL. 7 7.100 8,600, 1:20.600. H:13.000
7 7.100 7.600, £:19.700. H:14.400
7 ,200 1% 20,900
[y 7 200 4 .
L 7 ,200 1 +:13.000, H:14.800
FLOR (BT F %) 3L 7 .800 72
7 ,500 vl +:13.800, H:15.600
7 100 |50 300
7 ,200 61% |4 .900, +:15.600, B:18.700
7 200 | 61% 900, +:15.600. H:18.700
KR (BAEE) =#LIR (3 F#8%)| KB (BdF) % [ J 7 .500 69% |1:16.600, H:12.100
7 200 | 78% 800
7 8500 82%
4L (F T %) 3 7 8500 82%
7 9,500 79%
7 14000 | 70% |£:12.800. £:12.100, H:13.500
B (HE) =ML RRCHE) S| _JL183 | 7 9.300 62% |+ H:7.900
Lig5 | 7 10500 | 57% 3:7.900
L187 | 7 900 60% 37,900
L189 | 7 .300 62% 0200, £ H:7.900
L191 7 .300 62% 0.200. £ H:7.900
Li93 | 7 700 61% 0200, £ H:7.900
KSR L182 | 7 ,700 61% :
Lig4 | 7 .300 62% 2.
L186 | 7: 700 61% 7.900
Ligg | 7 900 60% .200. £ H:7.900
L190 | 7 .700 61% |£:10.500,  H:7.900
Li92 | 7 700 61% 500, -+ B:7.900
(B B (P 80) =ALIR (BT F | B 5 /= (P ) 38 _J 7. 17.400 58% | :21,300, £:20,000. H:16.300
7 13.700 7% | £:16.200, H:16.30
7 .800 7% |4 200, +:11.400, H:10.500
7 .900 | 79% |%:9.300. £:10.500. H:9.600
7 .900 4% | £:7.300, £:8,500. H:9.200
FLOR (BT F3%) 34_J 7 900 | 79% |[#£:9.300. 1 H:9.800
7! .800 7% [#£:10.200, +H:10.700
7 17.400 | 58% |:18.000, %:16.300. H:18.700
7 17.400 58% | A:18,000. £:16.300, H:18.700
7 13700 | 67% [£H:16.000




TS5 RBEER(OA18~30BEES)

EREEAA : 2018/06/27 ~
9/18-20,9/25-30
Fi Ey-v)
= @5 | BAM [—— e DNEIER
B BRE | gsix
FRCRE) =M (RH) | RR(FHE) R |_JL 7 5.500 66% [4:4:15.900.
7 7.900 7300,
7 7.900 % |%:17.500.
7 7.900 7500,
7 7.200 % [%:17.500, £:1
7 .400 4 7500, £:
7 200 7% | %:13.800
7 600 0 3300, £:14.700
7 9,600 9%
7 8.600 81%
7 14700 | 68% |%:13.300
7 14700 | 68% |£:16.000
TR GRER) F | JL 7 8.600 81%
[ J 7 8.600 81%
[ JLo04 |7 600 79%
| JL906 | 7 600 | 77%
[ JLo08 | 7 300 | 71%
JL 7 800 | 66% 15.900
UL 7 800 | 66% 15900
JL 7 800 | 66% 15.90
UL 7 .900 1% :15,300, H:19.700
JL918 | 7 7.900 1% :15.300, H:17.100
[ JL920 |7 6.400 4% :14.700, H:16.900
JL922 | 7 3.800 0% 13.400. H:14.300
RER () =41 (B F 58| KBR (59 % |_JL2001 | 7 7100 | 63% 100, £:20,000, H:12.600
| JL2005 | 7 7100 | 63% [+:19.100. H:14.000
[JL3913 [ 7 8200 | 61% 20,900
[ JL2009 | 7 9.300 80% 0600, £:10.600
JL2019 | 7 300 | 78% |+ H:11.600
FLOR (37 F5%) $4_JL2000 | 7 .300 78% |+ H:11.600
["JL2006 | 7 500 | 71% [#:13.100, £:13,400, H:15.100
JL3914 | 7 100 | 59% 300
JL2010 | 7 200 | 61% |%:15.400, £:15.100
JL2016 | 7 200 | 61% 400, £:15.100
K (A7) =#LR (# F%)| KBx (BEFE) F |_JL2501 | 7: 4,500 69% |#+:16,100, H:11.700
| JL2503 | 7 300 80% | &+ H:8.600
JL2505 | 7 500 82%
FLOR (B F %) $_JL2502 | 7 .500 82%
["uL2504 | 7 500 79%
JL2506 | 7 14.000 | 70% 2400, £:11.700. B:13.100
R CHE)=/M HERCHE) R JLis3 [ 7 9,300 62% 3:7,900
| JLi85 | 7 10200 | 59%
JL187 | 7 900 60%
JL189 | 75 .300 62%
JL191_| 75H .300 62%
JL193 | 758 400 62%
INEFE JL182 | 758 400 62%
JLi84 | 758 .300 62%
JL186 | 75H 400 62%
JL188 | 758 .900 60% |4
JL190 | 75H 700 61% [#:10.200. £ H:7.900
JL192 | 758 .700 61 $:10.200. F H:7.900
KR () =feAR KBR (51 % | _JL2383 | 758 .100 73%
| JL2385 | 75H 7.100 73
JL2389 | 758 8.400 68%
FEA%E | JL2382 | 75H 8.400 68%
[JL2386 | 758 7.100 73% 400
JL2392 | 758 7.600 71% | H:8.400. KE:7.100.
(B 2 () = 4L W (37 T | & o 2 () 3q_JL3103 | 758 17.400 58%
[ JL3105 | 758 13700 | 67%
JL3107 | 758 .800 77%
JL3115 | 758 .900 79%
JL3117 | 758 .900 84%
ALIR% ($7F %) $4_JL3100 | 758 .900 79%
[JL3106 | 758 .800 77% .700. £ H:9.900
JL3110 | 758 17.400 | 58% |A:18.000. % :15.500. H:17.900
JL3114 | 758 17.400 | 58% |:18,000. % :15.500, H:17.900
JL3118 | 758 13.700 £:12.200. £ H:13.400
BE-EH wRER JL3621 | 758 5,000 77% | RK:5.700
JL3625 | 758 6.400 71% 7.100. £:7.100
JL3629 | 758 5500 75% H:5,000. £:7.100
JL3631 | 758 5.000 77% 7.100
JL3633 | 758 5,000 77% 7.100
JL3639 | 758 5,500 75% | %:6,400. £
JL3641 | 758 5500 75% 800, T
EEES JL3620 | 758 5,000 77% | JK:5,700
JL3622 | 758 5500 75% | %:6.400.
JL3626 | 758 5,500 75% | H:5,000.
JL3630 | 758 5,000 77% 5900, £:7.100
JL3632 | 758 5,500 75% 7,100, X:5,000, £:7,100
JL3634 | 758 5500 75% | H:7.100. %:5.000, £:7.100
JL3642 | 758 5,000 77% _|7K:5,500, :5,500

JAL



TSR GIERER(10A1~4BEESD)

EREEAA : 2018/06/27 ~
10/1-4
P =5E
= BE | BAN | —— PR
R EEH 25 % w5

KR (BATE) =#L#R (37 F )| KB (BIdE) 5 [ JL2501 | 7 14,500 69%
[JL2503 | 7 500 79%
L2505 | 7 ,500 82%
FLOR (37 F#%) 34_JL2502 | 7! .500 82%
[ JL2504 | 7 500 | 79%
2506 | 7 14000 | 70%
R (FH) =ML RR(CHE) S| JL183 | 7 9.300 2%
[ JLiss | 7 10.500 7%
JLig7 | 7 .900 60%
[ JLigo | 7 300 62%
JL191 7 .300 62%
JL193 |7 700 61%
A% | JLis2 | 7 700 61%
JLigd |7 300 62%
[ JLige | 7 700 3

[JLiss | 7 700
[ JL190 | 7 ,700 %

JL192 |7 700

JAL



TS5 RBEER(10AI~18ARES) JAL

ER#EMAA : 2018/06/27 ~

30 10/9-18
= @ | mAM — DAETEE
| EE# |57 %
KR (BZE) =ALU% (3 T #%)| ABR (B25) 3¢ | JL2501 | 7 13600 | 71% [%+:15.700. H:11.100
| JL2503 | 7 500 79%
L2505 | 7' 500 82%
4LIR (37 F#%) 5_JL2502 | 7' 500 82%
["uL2504 | 7 500 | 79%
2506 | 7' 13.100 | 72% |%:11.800. £:11.100, H:12.600
RE(CHE) =/ HRCHE)F | _JL183 | 7 9.300 2% |+ H:8.600
[ J 7 10.500 7% |+ H:8.600
J 7 900 3:8.600
[ J 7 300 0200, £ H:8.600
J 7 .300 2:10,200, + H:8.600
J 7 .700 0.200. F H:8.600
INAZE J 7 700
J 7 300
oL 7 700
7 .700 0200, £ H:8.600
7 700 0500, + H:8.600
7 .700 £:10500, + H:8.600




IS HBHEER(10A19~27HERD) JAL

ER#EMAA : 2018/06/27 ~

30 10/19-27
= @ | mAM — DAETEE
| EE# |57 %
KR (BZE) =ALU% (3 T #%)| ABR (B25) 3¢ | JL2501 | 7 13600 | 71% [%+:15.700. H:11.100
| JL2503 | 7 500 79%
L2505 | 7' 500 82%
4LIR (37 F#%) 5_JL2502 | 7' 500 82%
["uL2504 | 7 500 | 79%
2506 | 7' 13.100 | 72% |%:11.800. £:11.100, H:12.600
RE(CHE) =/ HRCHE)F | _JL183 | 7 9.300 2% |+ H:8.600
[ J 7 10.500 7% |+ H:8.600
J 7 900 3:8.600
[ J 7 300 0200, £ H:8.600
J 7 .300 2:10,200, + H:8.600
J 7 .700 0.200. F H:8.600
INAZE J 7 700
J 7 300
oL 7 700
7 .700 0200, £ H:8.600
7 700 0500, + H:8.600
7 .700 £:10500, + H:8.600




EREAR

2018/06/27 ~

=40]

9/15

T

EEEH

R CRIE) =4k (%)

RRCRE) | JL

26.100

33.700

33.700

33.700

29,700

29.700

,200

.200

,700

.700

,700

.000

T GO & L

700

.200

,200

.200

200

000

7.000

8.700

8.700

7.700

6.200

3.700

KR (BAEE) =AL#k (37 F %)

KR (BAEE) 5 | JL:

35,000

.800

800

FLIR G F ) 59

.300

300

500

B 5 (P ED) =ALIE (B T B 2 () 3

4,200

29.100

200

.500

100

FLIR G F ) 59

.000

000

.600

,700

] ] Sy ) ) ) ) ) ) ] ) ) ) ) ) ) S ) ) ) ] ) Y ) ) ) ] ) ] )

9.700

TS %RBIEER(OAIS~16BEES)

JAL



RS EBIBER(9A21~240#ERD) JAL

ER#EMAA : 2018/06/27 ~

9/21
FH o

=40] Ba | BAH
R EEEH

7 700
7! .200
7 ,200
7! .400
7 ,400
7! .400
7 ,700
7! .700
7 ,000
7! .000
7 ,700
7! 25.700
7 ,600
7! .600
7 ,200
7! 200
7 7.200
7! 7.200
7 200
7! .600
7! .600
7!
7
7!
7
7!
7
7!
7
7!
7
7!
7
7!
7
7!
7
7!
7
7!
7
7!

R CRIE) =8 (BH) | RR(FHE) F [ JL

bk (ARER) 56 | JL

700
.200
.700
.900
.100
.100
.600
.600
.200
,200
.700

KR (BAEE) =AL#E (3 Fi%)| KB (BI78) 5 [ JL:

LI G F %) $9_JL2502

KBR (753) =i (BRFR) | RBR (D % [ L2081

ik (IRER) 5 |_JL2084

.900
.900
.700
500
.000
500
.900
900
.300
7! .300
75 .000
75 .600
.600
.700
9.700

BE=ILIRFTFR) B | JL3S
LIR (3 F %) $§_JL35

B 5 (P ED) =ALIE (B T B B 2 () 3

HLIR G F %) $_JL3

~
&l
m|(m|m|r




TSR BHIEER(10ACAEBES) JAL

ER#EMAA : 2018/06/27 ~

10/6
FH o

=40] Ba | BAH
R EEEH

22,700
30.000
30.700
30.700
29,700
26.300
700
.700
.700
.700
700
.000
700
.200
.700
.500
.500
.000
.000
.000
.000
.000
.000
.000
500
.500
.000
.000
.000
.000
.000
.200
700
.700
.000
.000
.000
.400
400
.900
.600
.200
.200

R CRE) =4 (BH) | RRCAE) F | J

bk (ARER) 56 | JL

RRCRE)F | J

RS

KR (73) =E88 KR (FRF)
BRfEF
(B B (D) =ALIR B F iRl & & E (&) _J

.000
.600
.600
.700
.800

Ji
FIR @R 3 L3100 | 75

<
<
o
~
&
m|m|m|m|m|c




